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7XMXDQ�SHQHOLWLDQ�LQL�DGDODK�XQWXN�PHQJHWDKXL�WLQJNDW�HIHNWLYLWDV�SDMDN�VDUDQJ�
EXUXQJ� ZDOHW� GL� .RWD� 3DGDQJ� WDKXQ� ����������� 3HQHOLWLDQ� LQL� GDODP� EHQWXN� GDWD�
VHNXQGHU�� GDWD� GLNXPSXONDQ� GHQJDQ� PHQJXPSXONDQ� GDWD� GDUL� %DGDQ� 3HQGDSDWDQ�
'DHUDK� GDODP� EHQWXN� GDWD� \DQJ� EHUKXEXQJDQ� GHQJDQ� SHQHOLWLDQ� EHUXSD� WDEHO�
PHQJHQDL� WDUJHW�GDQ� UHDOLVDVL�SDMDN� WDKXQ������������'DWD�GLDQDOLVLV�GHQJDQ� WHNQLN�
DQDOLVLV�GHVNULSWLI�\DQJ�PHPEDQGLQJNDQ�DQWDUD�SHQJHWDKXDQ�WHRUL�\DQJ�EHUKXEXQJDQ�
GHQJDQ�PDVDODK�\DQJ�DNDQ�GLWHOLWL�

%HUGDVDUNDQ�KDVLO�SHQHOLWLDQ�LQL�GLNHWDKXL�SHUKLWXQJDQ��HIHNWLYLWDV��SDMDN�VDUDQJ�
EXUXQJ�ZDOHW� WHUKDGDS�3$'�GL�.RWD�3DGDQJ�PHQJDODPL� IOXNWXDVL��3DGD� WDKXQ������
WHUMDGL�SHQLQJNDWDQ�HIHNWLYLWDV�SDMDN�VDUDQJ�EXUXQJ�ZDOHW�VHEHVDU������GL�WDKXQ������
GDQ������HIHNWLYLWDV�SDMDN�VDUDQJ�EXUXQJ�ZDOHW�PHQLQJNDW�GL�DQJND������GDQ������
QDPXQ�GL� WDKXQ������GDQ������NHPEDOL�PHQJDODPL�SHQXUXQDQ�GL� DQJND� �����GDQ�
������(IHNWLYLWDV�SDMDN�VDUDQJ�EXUXQJ�ZDOHW�WHUKDGDS�3$'�WHUPDVXN�GDODP�NULWHULD�
FXNXS�HIHNWLI�GLNDUHQDNDQ�PDVLK�GL EDZDK�������GHQJDQ�SUHVHQWDVH�UDWD�UDWD��������
2OHK� NDUHQD� LWX� %DGDQ� 3HQGDSDWDQ� 'DHUDK� .RWD� 3DGDQJ� GLKDUXVNDQ� GDSDW�
PHQLQJNDWNDQ� NLQHUMD� GDQ� PHQMDODQNDQ� IXQJVL� GHQJDQ� EDLN� DJDU� GDSDW�
PHPDNVLPDONDQ�SHQHULPDDQ�SHQGDSDWDQ�SDMDN� VDUDQJ�EXUXQJ�ZDOHW�� VHKLQJJD�GDSDW�
PHQFDSDL�WDUJHW�\DQJ�WHODK�GLWHWDSNDQ�GHQJDQ�PDNVLPDO�
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